
 

 Ans. X = 1.045 cm., Y = 3.597 cm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. X = 48.0 mm., Y = 36.0 mm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. X = 0 mm., Y = 1.151 cm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. X = 0, 
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Ans. 31

12yI b h=  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. 32

15yI a b=  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. 3 4390 10xI x mm= , 21.9xk mm=  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. 3 4954.3 10xI x mm= , 3 4463.3 10yI x mm=  

 


